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If 24 men complete a work in 8 days when they work 6 hours per day then find in how many
as 3 men complete the half work if they work 12 hours per day?
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If 36 men complete a work in 12 days when they work 8 hours per day then find in how mar;;/
s 12 men complete the 60% of.its work if they work 6 hours er day?
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If 24 man can complete a work in 16days. They started the work and after 6 days 8 man left the
work then find in how man days the remalnmg work |II com lete?
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If 36 man can complete a work in 12 days. They started the work and after 4 days 12 man join
the work then find in how many days the remalnmg work will complete?
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If 5 man or 9 woman complete a work in 19 days. Then find in how many days 3 man
and 6 woman complete the same work?
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If 3 man or 6 woman complete a work in 16 days. Then find in how many days 12 man
and 8 woman complete the same work?
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If 5 man complete a work in 6 days while 10 woman complete the same work in 5 days. Find in
how many days 3 man and 5 woman do it? . . -
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A mananda boy can complete a work in 24 days. If for the last 6 days boy alone does the work
then it is com ted in 28 days In how many days man alone will coIete the work?
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If 36 man complete a work in 16 days. They started the work and after 4 days 6 man are
replaced with 48 woman then find in how many days the remaining work will be complete.
Efficiency of woman is half of the man?
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If 1 man or 2 woman or 3 boys can complete a work in 33 days then find in how many days 1
man, 1 woman and 1 boy complete the same work?
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If 10 man or 20 woman or 40 boys can complete a work in 7 days then find in how many days 5
man, 5 woman and 5 boy complete the same work?
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If 2 man complete a work in 4 days while 3 woman complete this work in 4 days while 4 boys
can do this same work in 6 days. Then find in how many days 1 man, 3 woman and 2 boys
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If A and B together complete the work in 5 days. If A work twice and B work 1/3 of their
efficiency respectively, then same work will be done in 3 days then find in how many days B

alone complete the work?
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If 2 man and 3 woman can complete the work in 10 days while 3 man and 2 woman complete
the same work in 8 days then find in how many days 5 man and 7 woman complete the same

work?
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1) 100/31
2) 200/49
3) 300/43
4) 400/21




